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A smallproject consists ofseven activitics fot which the relevant data is Siven below

Required

a) Draw the network arrd find rhe project completion time.

bl Calculate the total float tbr each activity

(05 Marks)

(05 Marks)

A civil engineeri ng firm has to bid for lhe construction of a dam. The aclivities and their tirnes

estimates are given below.
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The policy of the lirm wilh respect to submitting bids is to bid the minimum amouot thal will

provide 950/0 of probability of at best breakinS'even. The fixed costs for the project are

Rs.800,000 and the variable costs are Rs.9,000 evcly day spent worki g on the proiect

Required:

What amounl shoukl the nrm bid rnd€r this policy?

(10 Marks)

fTotal20 Marks)

Pr eced i!€4q!V!!iet.

Fe:simistic klays)



o?. f0 What are the assumptions underlying the economic order quantity?

What costs might a business incur as a result of holding too low a level ofin

A factory requires 1,500 units of an item per morth. The cost of each unit is
per order is Rs.150 and material carrying charge wo,:ks out to 20% of th-"
Find out economic order quantity and ascertain the number of orders to be
Would you accept a 20lo price discount on a minimum supply of 1,200 units.

(i0

tiii.)

(Total

03. There are three plants [p1, p2, and p3] ofa factory that produces 110, 130, and 190 unitj
respectively to distribute to 4 markets [M1, M2, M3, and M4) the respective demands
and 150 units. The following table provides unit tmnsportation cost (in Rs.J from every
ofthe markef.

Find the initial allocation and it,s transportation cost using Least cost method.
Find the optimal allocation and it,s transportation cost using Stepping stone m
Formulate this transportation problem as a linear programming model.

Larbort Limited has been operating with five canteens, which would be assigned to S d
operators, as a conpany poricy. The foirowing are evely operatof,s request to the Larbo;
thousand Rs.) to bear their costs partjally.
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Allocate the canteens to the

What is the minimum cost?

Plant Market

M1 M2 M3 M4
p1 21 76 15 3
P2 17 18 14 23
P3 32 27 1B 41

ODerator o1 o2 o3 o4 o5 06l
Canteen

c1 60 50 40 50 40 50
c2 60 52 42 48 40 4A
c3 62 53 47 51 41 49
(.4 61 52 40 51 3g 50
c5 63 53 42 49 42 51

operators in order to minimize the cost incurred.



Company mak6s a cereal from several ingredients. Two ofthe ingredients, oats

vitamins A and B. The company wants to know how many grams of oats and rice it

each box of cereal to meet the minimLlm requirements of48 milligrams ofvitamin A

ofvitamin B while minimizing cost. One gram of oats contributes B milliSrams of

milligram ofvitamin B, whereas one gram ofrice contributes 6 milligrams ofvitamin

oivitamin B. One gram ofoats costs Rs. 5, and one Eram of rice costs Rs 3

alinear programming model for this problem.

model graphically.

standard form ofthe above model to solve it by the simpler method.

s model using simplex method.

(25 Marks)
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